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Thus:
VEP (0,t)=V™ (0,t) VT (0,t)

_ %VOSig (0)) -VORef [COS{Za)t +((/)S (a))+(0R )} +COS{((DS (a))—(ﬂR )}]
and:

VEP (@,t) =V (co,t)@VﬁF;;f (o,t)
= _%VoSig (a))VOREf [sin {2a)t +((ps (a)) + @y )} —sin {((05 (a)) — @y )}]

Next, we (deliberately) choose to set the reference amplitude to: V** = V2 =1.4142 Volts
{i.e. set the RMS reference amplitude to: V,*" V' =1.0000 Volts }.

4
Then, the two PSD product signals become:
v PoPx (o,1) =V (0,t)®V™ (1)
=+FV (a))[cos{Za)t +( o5 (@) + 5 )} + COS{((DS (@) - )}}
\/ PSPy (a),t) =V 59 (co,t)@Vﬁ?if (a),t)
=—%V0Sig (a))[sin{Za)t+(gos (0)+ g )} —Sin{((ﬂs (@)-oq )H

Thus, note that the RMS output signal amplitude is: V™ (o) =14V, % (o)

and:

Thus, the two PSD product signals can be expressed in terms of their RMS amplitudes as:
\/ PoPx (a),t) =V %9 (a),t) RV e (a),t)

:VOS:?AS (a))[COS{Za)t +(gz)S (0)+ g )} +COS{(¢)S (0)— 5 )ﬂ
and:
VP (g,t) =V (a),t)(@V;‘;f (o,1)

=V (a))[sin {Za)t +( o5 (@) + 5 )} —sin {(Cﬂs (@) - )}J

-3-
©Professor Steven Errede, Department of Physics, University of Illinois at Urbana-Champaign, Illinois
2002 - 2017. All rights reserved.





